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[Each question is worth one point. @ ¥ T% 9g &7 )|

1. IT UIST AU Q& 9aT AT T&T ¥ ATIHT Gear 3§ Frg 9 a9
IFHOHT Ufeel 7 HIA ger AT B 9

If 16 mangoes are added to a basket, the total number of mangoes becomes 36, then how
many mangoes were already present in the basket ?

Quantitative reasoning

2. qABT HEA F YEAMI G Bl TAMAN GO0 SR §7e ?

In which number does the 8 have the value of 800 ?
a) 1,468 b) 2,587

Quantitative reasoning

¢) 3,809 d) 8,634


FreeText
Quantitative reasoning

FreeText
Quantitative reasoning


3. 96x? I WH Bid TG ?
What is 18x9?

Numerical entries

4. Y ¥+8 BT HE B g7 2
What is 54 ~7 ?

Numerical entries

5. T A={1,3,57}, B={23,5,7} WU ANB Hid 75 ?
If A={1,3,5,7}, B={2,3,5,7} then what is the value of AN B ? C LTINS FEEEEITT

4 3

6. — +— =2

100 1000
a) 0.043 b) 0.1043 Quantitative reasoning
c) 0.403 d) 0.43


FreeText
Numerical entries

FreeText
Numerical entries

FreeText
Quantitative reasoning

FreeText
Quantitative reasoning


[al
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7. T IGHT 36 ST ATA U, THAT helhel T ASTAHID] ATIT 5:4 12T |
TG AU T THHT BId HATbdT [T 2

There are 36 passengers on a bus. The ratio of children to adults on the bus is 5:4. How
many children are on the bus ?

Problem solving

8. AT 10 AT HHH! Hed T 150 WY 15 AT HeAHD! e Hid g7 ?

If the cost of 10 pens is Rs. 150, what is the cost price of 15 pens ?

Quantitative reasoning

9. AT YIS WA €500 W ==l ¥ 100 BT g AT T e Hid g7g ?
If a radio is sold for Rs. 500, and there is a profit of Rs. 100, then how much is the cost

1 9
price ! Quantitative reasoning


FreeText
Problem solving

FreeText
Quantitative reasoning

FreeText
Quantitative reasoning


10, ATt BT IeR FErgeT e T W) S@rguay o T e Arar arer

qritet (Hr('\’Ob\I T | The figure below shows a glass and a jar of equal height. Both

are half-filled with water

At et @ O ehr T g it derhr Wedr F ArehE
o

N N

Heglvleal g ?

o

If you pour all the water from the glass into the jar, which of the figures below shows

how the level of water in the jar will look like ? : :
Logical reasoning

m= R
a) T — b) — o) d -

1. @il aREAfd 24 T, g 9 TG e dvErg FA g 0

If a square has a perimeter of 24 cm, then what will be the length of a side?

Logical reasoning

12. ST SFg 6 AT ASTS 4 TH. BT ATATH! SR Hid g ?
What is the area of the rectangle having length 6 cm and breadth 4 cm ?

Problem solving


FreeText
Logical reasoning

FreeText
Logical reasoning

FreeText
Problem solving


-

13.14 AT =9 AUH DI AGAE Bid 575 2

c

What is the radius of a circle with diameter of 14 cm?

a) 7 cm b) 14cm

Problem solving
c) 28 cm d) 10 cm

(l‘\ (NN C

[ sl 6 .. HU NEEILED] gl;"lt{llrg EEAEARGEEIE gy ?

*
1491 -

Which one is the length of the diagonal of a square where the length of one side is 6

cm?
a) 6 cm b) 5v2 cm Problem solving
c)4cm d) 6V2 cm

o

15. 7001 T HeHT USC e HEl A T wed fbw g | e 5 g
fohdTel T 2 92T HH €. 74 1 [ | HeHEl 1 U9 T 3 921 [haredrs ©. 42
T | F SIS FHIHORT A AGEITATS Wi HAered T qoFg 2

Miraj and Mahmud went to the same shop to buy some books and pens. Miraj bought 5
books and 2 pens and paid Rs. 74. Mahmud bought 1 pen and 3 books and paid Rs. 42.
Which pair of equations could represent this situation ?

Quantitative comparison

a)5x+2x=74, y+3y=42 b) 5x +2y =74, x + 3y =42

c)Sx+2y=74,3x+y=42 d) Sy +2y=74,3x +y=42


FreeText
Problem solving

FreeText
Problem solving

FreeText
Quantitative comparison


16. (3x + 4y) x (3x — 4y)®T TAHd (fFeamd) 7 F & ?

c

What is the simplified (expanded) form of (3x + 4y) x (3x —4y) ? | Quantitative comparison

17. Y64 %I A Hd &7 2

What is the value of Y64 2 Numerical entries

18. TAHT HE FH BIUT 45° Bl Aid g 2

Which angle in the figure has a measure closest to 45° ?

| / ""\ Logical reasoning

\\x . b
a) p b) g
c)r d)s


FreeText
Quantitative comparison

FreeText
Numerical entries

FreeText
Logical reasoning


19. Tl oA Qi a1 HBEHT 81 | AGHT g IR GHAA T Hig 9RT 556
Z |

Below is a cone. Part of its surface is flat and part of its surface is curved.

qABT HeY T [=AAT U Bl HRT FHAA T blg 9N a5 G ?

Which of these solids also has a flat surface and a curved surface ?

a) e b c) )

Logical reasoning

o

| c
20. I ATHR T WA WCH TEJATs “ATET A= | TABT B g5 =4
qaged g ?

Figures that are the same size and shape are called “congruent” figures. Which two
figures below are congruent ?

a) land2 b) 1 and 3

Logical reasoning

b) 1 and 4 c)3and 4


FreeText
Logical reasoning

FreeText
Logical reasoning


21. TSB! S B CHT A Bid g7 ?

What is the measure of angle C in the triangle below ?

a) 45°

¢) 65°

Logical reasoning

22, AT [Te® HET FT ATell L@T THHAHT L@l 2l 2

In which of the figures below is the dotted line a line of symmetry ?

a)

\\ b)

o N O o
23. TagUl T=HAHT x ﬁ HIH ®ld g7¢ ?
What is the value of x in the given figure?

Logical reasoning

R

Logical

c) . d) !

95° X
85° 70°



FreeText
Logical reasoning

FreeText
Logical

FreeText
Logical reasoning
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24, fegUHT AT AT 35 @EE THMGR 9T, x
Dl A HA §og ?

In the given figure, if the two rays are parallel, then

Logical reasoning

what will be the value of x? 85°
a) 85° b) 95°
c) 90° d) 60°

25. % TEAFH L X =50 T (X) = 10 AGd 9T T G Hid g7 ?

In the given data, Y, X = 50 and average (X) = 10, then what will be the number of
items ?

a) 5 b) 6 0)7 d) 10 Quantitative

g8 @ (Group ‘B)

[Fca® T g% AZFPT S | Each question is worth two points.]

1. UIET HEAH 40 arsdl S, TEHed 4 0 ATARYT G | ATHEIT AT

forendiees! gfaera o TS Te. |

There are 40 students in a class, and 4 of them are absent. Find the percentage of
students who are absent. Problem solving



FreeText
Logical reasoning

FreeText
Quantitative

FreeText
Problem solving


2. AMM®  SATST 10% LA, T. 2000 I 5 AHHT Bl WEART A Hid §rg ?

At a 10% annual interest rate, what is the total simple interest earned on Rs. 2000 over
5 years ? Problem solving

3. T3l U9elel 15 FcT AT & 90 T fh=ar | dWed daer T IS W,
T IA AT ATTATS &, 8 Bl TCHT o=AT| BT AIRT a7 AFGT HH Il
IR |

A shopkeeper bought 15 mangoes at Rs. 90. Three of them were rotten, and he sold the
remaining mangoes at Rs. 8 each. Find his profit or loss amount.
Problem solving

-

FI 7 Fblederd |

=~

m+nxqm—n

4. aﬁpZS,qZZ,m=2-{n=3 WE

m—nxqm+n

m+nxqm—n

pr=5,q=2,m=2andn=3thenﬁndthevalueofE

m—nxqm+n'

Quantitative reasoning
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FreeText
Problem solving

FreeText
Problem solving

FreeText
Quantitative reasoning


o

5. T3ar 10 4, e, 9 WY, =ere T 8 Al IUIE WUHT AT Hid forex

EEREECIETI
How many litres of diesel does a tank with length 10m, breadth 9m and height 8m
hold ? Problem solving

(EnNERaN

6. AM® WAFHE HIUHHAT TI Wg W‘a’?{?ﬁ@,?gwwsm Bl
TS WRUHT AT |l ataswl 9 v g 6 e [ v

In the annual sports eventg of a length of bamboo was coloured green, and g of the length

of the bamboo was coloured blue. If the total length of the bamboo is 6 meters

i. staep! id e siar @ wwmsuar & 2

1. How many meters were green in the bamboo?
Problem solving

ii. stge! B e Far & wmeusr B 2

i1. How many meters were blue in the bamboo? Problem solving
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FreeText
Problem solving

FreeText
Problem solving

FreeText
Problem solving


- ~ — .
7. WA T Simplify: x%2-5x+6 n x-3 Quantitative reasoning

x2-9 x+3°

8. T AT AUEHI HE 400 H7IC [CHE ©. 6 Bl TR ool AT | T A
AIEHT HEMT Yed TGUL ©. 6.5 HI Tl [dba S= Wiodg | UG qULEHel
e =Wl 9 IS D! HETT T qUHT TATHT TF a9 Bid THH Tt ST
gy 2 91 T@HH 1 ASTRE | T audT T T9 aY B Jaed A
ECERE R ERTEIERIGE T

6

Last year your class sold 400 concert tickets at Rs. 6 each. This year your class plans to
raise the price to Rs. 6.5 for each ticket. If you sell 400 tickets how much more money
will your class collect this year, compared to last year? Calculate this amount. Also
calculate what percent of money will be increased this year as compared to last year.

Quantitative comparison

12


FreeText
Quantitative reasoning

FreeText
Quantitative comparison


